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1. FEFEFNA
ERBARESNA 10,000 50,000 40,000
AR @G 10,000 _ 50,000] _A40,000
EA%HSU\ 485,000 500,000 A15,000
2BINAG : 485,000 500,000] A15,000
HARS Y*ﬁﬂﬂul)\ 46,450,000 44,191,348 2,258,652
EHRA 46,450,000 44,191,348| . 2,258,652
%liﬁéé’\ (*i }\ ju—‘a) A 1,700,000 1,604,792 95,208
FEIEEZE R (BK) LA 4,032,000 5,004,000 972,000
FBIWEZES (P LA 6,525,000 3,059,000 3,466,000
FAEZE R UNF) A 4,070,000 3,660,000 410,000
ZTFEBERNA 1,323,000 1,604,500 281,500
7w MFIIVEEESIA 4,074,000 « 4,846,500 AT72,500
Y EBENA 1,104,000 788,000 316,000
FvARBSNA 200,000 0 200,000
FHZESIA 120,000 0 120,000
HiZ BRI 4,000,000 3,473,000 527,000
E¥ZAS 160,000 177,000 A17,000
ERIA 4,000,000 + 2,481,935 1,518,065
EERHERS 5,000,000 « 6,943,700 1,943,700
Ty hR—=)Vt 2y — um 18,066,000 0 18,066,000
BENAG. 54,374,000 33,642,427 20,731,573
A TFAARHAMNEER 44,215,483 44,195,186 20,297
IR BT R R 8,000,000 3,232,300 4,767,700
EIRBATHRIA 800,000 683,000 117,000
R VO 53,015,483 48,110,486 4,904,997
HBBESIUA 2,000,000 1,142,110 857,890
e A 2,000,000 1,142,110] 857,890
FLBIA 10,000 o 447 9,553
MEUA 6,000,000 6,053,748 A\53,748
- HENUAGE 6,010,000 6,054,195 - 44,195
AL 2 F—2FHA 80,000 L 46,737 33,263
AL 80,000 46,737 33,263
EEGEHNAGE 162,424,483 133,737,303 28,687,180
2. BEFHTH

BERTMH ;
HA a2 H 24,300,000] 23,314,460 985,540
JUNt = H 1,200,000 1,195,100 4,900
SN A BT 37 H 234,000 210,000 24,000
EHARRFEEETH 180,000 180,000 0
JUN R £ B X 396,000 382,000/ 14,000
I PERE - 3 31,000 B 31,000 0
BERE s HEt 26,341,000 25,312,560 1,028,440
FIEEZERE (T2, K% XH 4,110,000/ 3,919,035 190,965
F2WEERE (B XH 6,145,000 6,829,159 /\684,159
EIWEERE (P¥) XH 9,455,000 6,937,515 2,517,485
BABEESE UNFE) X 6,700,000 6,211,793 488,207
ZFEERBETH 1,723,000 1,985,520 A262,520
7w NIV EBESBETH 6,974,000 - 7,711,524 AT37,524
TITEHH 1,954,000 1,924,102 29,898
FyvALRBRBEIMH 3,600,000 1,514,481 2,085,519
FHZBEBZMH 3,920,000 4,198,936 AN\278,936
EihEZESBEZH 13,318,000 11,909,068 1,408,932
EF¥EZESBEH 591,000 770,055 A\179,055
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IEHREEREX N 5 1,885,483 1,745,667 139,816
REZBE2BMH 200,000 179,961 20,039
ERZESETH 2,439,000 693,180 1,745,820
RKEMNZH 2,000,000 «984,800 1,015,200
ERREAS 2,000,000 . 4,101,183 A2,101,183
BRAEATRKEZH 900,000 561,593 338,407
mbIRE & X H 8,500,000 3,785,990 4,714,010
ERIERE (HARHBERER) S 300,000 120,000 180,000
HEIE L EEERE T H 2,800,000 2,706,060 93,940
Ty RR=tEy— 18,066,000 . 541,404 17,524,596
X4 500,000 500,000 0
REIZH 600,000 462,248 137,752
AL —FH 50,000 + 38,253 11,747
IS T7EDmmEE 600,000 540,000 60,000
BEANWEY Y I —FEEE 1,000,000 1,058,133 /58,133
SRRk 2,000,000 1,906,852 93,148
EE#H = 1,500,000 0 1,500,000
E PR Y — K& 1,000,000 0 1,000,000
BEE LG 131,171,483 99,149,072 32,022,411
RS
ARl YT 13,400,000/ 11,756,417 1,643,583
HHFLTH 3,800,000 3,294,550 505,450
RIS 1 B A S 240,000 240,000 0
IEERAE T 2,710,000 2,481,442 228,558
BHREA BT H 50,000 32,438 17,562
fif et ¥ ¥ 2 52 3 700,000 - 1,319,458 £\619,458
HiEEZH | 1,000,000 1,174,655 A174,655
DiEE T 100,000 61,671 38,329
WL BT H 1,000,000 1,205,060 205,060
T2 S 1,400,000 1,468,748 68,748
N AR 630,000 734,350 104,350
KHFEE S 100,000 99,468 532
HERH 2,180,000/ 1,949,558 230,442
HEKEE S 230,000/ 228,750 1,250
PRERELZ 270,000 226,050 43,950
FABLNEREZ 1,200,000 3,018,158 A1,818,158
FrhRE S H 37,032 37,032 0
FERE £ 600,000/ 462,240 137,760
HEH 2 H 500,000 33,620 466,380
EHEX A 30,147,032 29,823,665 323,367
il = EHRE4E |
fit=aHiREE (IXA) 0! 2,381,437 2,381,437
W EHIREE AR AT 0 2,381,437 A\2,381,437
EEEHTHER 161,318,515 126,591,300 34,727,215
FEEH N ERE 1,105,968 7,146,003 /6,040,035
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1. HTEFEBINA
BEEBINA S S 0 0 0
2. EEEESHTH
BEEE A5 0 0 0
BREWEH N X =8 0 0 0
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1. MBEEINA
MBEEIAGE 0 0| 0
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BB & 5t i 0 0 0
B % s 8 X =8 0 0 0
NV $EEZEMBSEIA
ZEMBE - TRFMSINAG 0 0 0
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1. ZARAESZEIA
2. ZARIASERESH
3. HEHR
Fi#E (10) B
LI 2= 4R 1,105,968 7,146,003 /6,040,035
AR =5 0 A121,618 121,618
KRN =4 1,105,968 7,024,385 A\5,918,417




